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S04- 264 = 780

595 209 - 387
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1 think of a number, multiply it by 5 then add 8. The result is 43. What number did I first think of?
Tthink of a number, add 7 to it then divide by 2. Th result is 10. What number did T first think of?

T think of a number, divide it by 3 then subtract 11. The result is 1. What number did T first
think of?

T think of a number, subtract 5 from it then divids the answer by 6. The result is 3. What number
did  first think of?

Tthink of a number, add 5, multiply the answer by & then subtract 1. The result &s 45. What
number did I first think of?

Claire has soma swasts. She eats 1 of them then gives half to
har brothar. This leaves her with 6 swests. How many swets
did she have to begin with?

6 years aftar Dylan i thraa times his current age, he will be
the same aga as his mum is now. His mum is 39 years old.
now. How old is Dylan now?.

Louis has some monay. He spands £2 than puts half of what is
left in 2 charity box. He then spends another £2 of the monay.
He is left with £5. How much did he have to begin with?
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